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VCC1

CS(-)2

CS(+)3

PGND4 DH 5

BST 6

FB 7

GND 8
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* NOTE:
R6 = R7 x (Vout/1.25 - 1) rounded to nearest 1%value
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retemaraP lobmyS mumixaM stinU

egatloVtupnI V CC DNGot 7+ot3.0- V

laitnereffiDdnuorG P DNG DNGot 1± V

egatloVtupnItsooB DNGotTSB 51+ot3.0- V

egnaRerutarepmeTtneibmAgnitarepO T BMA 07+ot0 C°

egnaRerutarepmeTegarotS T GTS 521ot54- C°

erutarepmeTnoitcnuJmumixaM TJ 521 C°

.ceS01)gniredloS(erutarepmeTdaeL T DAEL 003 C°

tneibmAotnoitcnuJecnatsiseRlamrehT θ AJ
561 W/C°

esaCotnoitcnuJecnatsiseRlamrehT θ CJ
04 W/C°

retemaraP lobmyS snoitidnoC niM pyT xaM stinU

ecnerefeR V FER 832.1 052.1 362.1 V

egnar.pmeTC°521ot0revO 522.1 052.1 572.1

tnerruCsaiBkcabdeeF I BF 0.2 0.8 Au

tnerruCtnecseiuQ IQ VotnitnerruC CC nip 0.5 0.8 Am

noitalugeRdaoL IO A01otA1= 5.0 0.1 %

noitalugeReniL IO A01= 5.0 %

dlohserhTtimiLtnerruC )-(SCot)+(SC 06 07 08 Vm

ycneuqerFrotallicsO 071 002 032 zHk

tfihSycneuqerFrotallicsO V BF V< FER 2/ 05 zHk

elcyCytuDxaM 09 59 %

tnerruCecruoS/kniSHD IO V TSB V- HD V/V5.4= HD V- DNGP V2= 005 Am

dlohserhTOLVU V OLVU 8.3 V

Unless specified: VCC = 4.75 to 5.25, GND = PGND = 0V, VO = 2.5V, TA = 257C, BST = 12V.
Per test circuit, unless otherwise specified.

Note:
(1) This device is ESD sensitive. Use of standard ESD handling precautions is required.
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7 BF .)-(tupnireifilpmarorrE

8 DNG .dnuorglangiS

�
��<���

:,�!��$�.��������*1�;

1

2

3

4 5

6

7

8

BST

DH

GND

PGND

VCC

CS(+)

CS(-) FB

=�
�-� ��)���



> �����������	��
��� ����������	��
�

��������	�
���	�

�
����

����%
���������
�� �
� ���

�� ��5
����������������������

%
�� �
�����%
�� ������������
�� 
%� �	�� ������� .30

�
���
������2�)	��
������������	��)�������-2#������������

����	�����������
����$��	�����%%����
��)�

�$��������
��+

�)��$�%%�����������
������
�$����

$���$�������#�$�

�;���	��	�)	��
����������
%��	������
����	

�$�������$�

�

%������ �� )�

�$������� �	

�$����
��$�� �	���
�������$

�
����
��
%�)�

�$�������������
���
����	

�$�����
�	���

�
��
��
��������������
���
�����)�

�$�����������)�����

1�
����$�
������+��
����$�������
%��	��)�

�$����������

���$������������ ����
$
��$� �
��
��������)�

�$��
������

�
�������
�����������%
���4�������	�����
���������
����$

�
��
����	
��-�� )�

�$�

�;�� �	�� �

�� %
���$���� �	�� 1��
���������
�:�;� :���;�� �	�

�
���6��:?�;���$��	����	
��-��: �;��
������-������������

����
���������	��� �

���
����������� �	��	�)	��
�������%���

��������
�������	��)���
������
����	

�$���������$����$

����	
�������
������� �
�������#�� �

�� ��$
��������0���+

��#��)��	����

��������������$
���601���
����)�

�$���@��+

��
���
�������� ���
����)� ���������������� A�������B�)�

�$�

%
�� �	�� �����
%� �	�����������$�������#���

���� ���)��)�

���
����)�����
������������)���������	��)���)�����

�;���	���
������
�����������	�� @
����
��
%�?��� ����$

�	��

��
�� ��$
��
�� �	

�$��������$�� ������ 
�� �
����

��)�
���1���	

�$��������	
������������������������	����
�+

�����
��	��� %���� �
���)�� ��������
���� -�����)� �	��� �
�+

�����
���	
��������������#��601���	���
������
���������

�	��

��
�� ��$
��
����$� �	�������� ������
���	

�$�����

��$�� ������
�� �
����������� �	���������
� %���� �
���)��
�

�
������ ��������
��� ��� �	��� �
������
����$� ���)�	� ����
�

�
� ���
������� 	
�������$$��)�
����������� ����$����

�������$
����%%��������

>;� �	��*
��
���������
�:�;� :�

�;� �	

�$���� �
����$���

��
��� �
� �	�� �
�$���� �
�������� %���� ���������� �
�$� �
�+

�����������
�����$�����

��
�������$��
������
����������

�

����$� �	�� �
�$��
�������	
������$���
����������� �


������#�� ��$
���������$������������

';� �	��������� �������������$�
������� ��
����$�)�

�$

������������C8 ���$�.C8 ��	

�$���� ���
���$� �
� �	��

��
����$�)�

�$���	�����
����$�)�

�$�������	

�$�����
�+

�����$��
��	�������)�

�$�������������	����
���%�
���	�

C8 � ���� �
� �	�� )�

�$� ��$�� 
%� :
��� 
%;� �	�� 

��
�

�������
�:�;�� 1%� �	��� ����
���
���������	��C8 �����������

�
������$� �
� �	�� )�

�$� ���	� �������� �	�� *
��
�

�������
�:�;���$��	�������?��� ���

���D�$����
�����
�+

���������	

�$�C8 �������
���$��
���)�

�$�����$���	�

�����?��� ���

��

E;�<��� %
�� �	����������	

�$�����
�����$� %�
�� �	��'<

�
����� �	�

)	�����Ω� ������
��� �	�� <��� ���� �	

�$� ��
$��

���$�$���������
�C8 ���������F�����������������
��

���������)�	���	

�$��������	
�������
�������

G;� �	���
������������ ������
����$� �	��$���$������
��� ��

�	

�$�%
���������������

������
���������	����������
�+

���)����-��
���:H;���$���:+;�
���	����������	

�$��
�

�����������$���
����
����	�
�	���

,;��
�������#���
�������-
������	�������������=�������	�

%��$���-� ������
����	

�$��
�	������
��� �
� �	��������

���	� �	���
��
�� ������
�� :��;� ���
���$� �
�)�

�$���� �	�

C8 �����

��������	
����
�����


�	��
�$����
���)���
�-

������
���
%��	������������
���

�	��� �	��	�)	+��$��0*��6��$������

��
��� ������� ��� �	�


%%� �������	������� �	�� �
����� �
���)��$�
������
�����

������������!
�-

��
��
��� �%�<
����
%��������
����,<��8
�+

����
������
�����
����
����<
��
� ���������
�����,<�


����
������	����

���������
��� 1�%
�����
�



' �����������	��
��� ����������	��
�

��������	�
���	�

�
����

Vout

5V

4uH
+

Cout

+
Cin

10

0.1uF

Q 1

0.001uF

12V IN

Heavy lines indicate

high current paths.

D 1

S C 1 1 0 1 C S

G N D
8

V C C
1

CS(- )
2

CS(+)
3

P G N D
4

D H
5

B S T
6

F B
7

R b

R a

���������
��� 1�%
�����
�� :�
���;


����
�������������
���������

<
*
�I�<

�6�
�:��H���"��;

��
��������

��
	
	

�	
��

�	

��������

��
��

��
���

��
����	
��

��
����	
��

���
����	
��

��

�����
��

�	

�����
��

��
�
���

��
�	�

��
��
�����������

��
�
�

��
�
��

  ��

!"�

��

�
�

���
�
�

��
�
��

��
��

!"�

VCC1

CS(-)2

CS(+)3

PGND4 DH 5

BST 6

FB 7

GND 8

#�
$�����

* NOTE:

R6 = R7 x (Vout/1.25 - 1) rounded to nearest 1%value
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